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CTET-1 English Memory Based Question

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

CTET-1 CDP Memory Based Questions

Which of the following theorist gave six

stages of moral development?
Ans: Lawrence Kohlberg

The concept of the Zone of proximal

development was introduced by:
Ans: Lev Vygotsky

Which of the following is not developed
during the sensorimotor stage of Piaget's

theory?

Ans: The idea of object reality & Language

and thought

Which of the following is the difficulty faced

by autistic children?
Ans: Social interaction

Children with dyslexia can be identified by
Ans: analyzing their reading skills.

Which of the following is correct in the

context of the socialization of children?

Ans: School is a secondary socialization
agent and family is a primary socialization

agent.

Which of the following statement is correct

in the context of development?
Ans: Development is multi-dimensional.

In a

individual students.
Ans: progressive

Which of the following is NOT a suitable
learning material for students who are

partially sighted?
Ans: Small-print worksheets

classroom teachers adapt their
pedagogy and vary assessments to cater to

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

In the multilingual classroom, learners can
interact -

Ans: in their own language and can be a mix
of words from more than one language.

It is the study of the meaning of words,
phrases, and sentences-
Ans: Semantics

Which one is not the merit of the project
method?

Ans: This method does not provide a
challenging yet encouraging learning
environment

Which one is not the characteristic of
intensive reading?
Ans: It is used to review a topic

The theory of second language acquisition is
given by-
Ans: Stephen Krashen

While teaching vocabulary, teachers need to
ensure that their vocabulary work includes
Ans: A range of activities impressing both
formal and semantic aspects of words

CTET-1 Mathematics Memory Based

Q1.

Q2.

Q3.

Question

The average age of three boys is 15 years
and their ages are in proportion 3:5:7, what
is the age in years of the youngest boy -
Ans: 9

XIX in International numerals
Ans: 19

The area of a square plotis 1600 m?, and the
side of the plot is
Ans: 40m.
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Q5.

Q6.

Q7.

Q1.

Q2.

Q3.

Q4.

Q5.

2,4,3,5,4,6,.....
Ans: 5

The equation of the circle radius 5 and
touching the coordinate axes in third
quadrant is

Ans: (x+5)2 +(y+5)?=25

Angle between 3:10 mint
Ans: 350

5/4 of 26% of 180 * 144 /24 =7
Ans: 351

CTET-1 EVS Memory Based Question

A farmer is growing paddy crop over and
over again using excess of fertilizers and
pesticides in his fields. This practice will
make the soil of his fields:

Ans: Barren

Which one of the following birds can rotate
its neck backwards to a large extent?
Ans: Owl

After diagnosis, a doctor says to a patient
that is less haemoglobin in his blood. Which
of the following should he eat to make up for
the deficiency of iron?

Ans: Amla, green leafy vegetables, jaggery

Dyslexia is
difficulties in:
Ans: Reading

associated mainly with

Which one of the following statements is
correct about elephants?

(a) Elephants like to take too much rest
because of their heavy bodies

(b) A three-month-old baby elephant
generally weighs about 2 quintals.

(c) An adult elephant can eat even more than
2 quintals of leaves and twigs in one day

(d) Elephants sleep for 8 to 10 hours in a day
Ans: A three-month-old baby elephant
generally weighs about 2 quintals

Qé.

Q7.

Q8.

Qo.

Q10.

Q11.

Q12.

Q13.

Q14.

In which one of the following states the
meaning of “Torang” is jungle?
Ans: Jharkhand

Which one of the following diseases may be
caused by stagnant water?
Ans: Malaria

What is the full form of ADHD?
Ans: Attention Deficit Hyperactivity
Disorder

Himalaya May apple, a medical plant is only
found in higher altitudinal regions. This
plant is categorised as:

Ans: Endemic

As per NCF 2005, which of the following

should be the objective of EVS at primary

level?

(a) To critically address gender concerns
and issues of marginalisation

(b) To develop the memorisation skill of the
child

(c) To emphasise the importance of
description in learning of EVS at primary
level

(d)To recognise and recall the
environmental issues of primary
concerns

Ans: To critically address gender concerns
and issues of marginalisation

The relationship between organisms where
one organisms benefits from the association
while the other is harmed, is known as:
Ans: parasitism

EVS follows the approach of:
Ans: Social constructivism

The spirit of team work is learnt from which
of the following:
Ans: Family, society, and sports

On the map of India if you draw a straight
line from Kolkata to chandigarh, then the
direction of chandigarh with respect to
Kolkata would be

Ans: North west
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